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Mechanics 6 - Connected Particles 

Section 1 

(b)v=-12i+9j (c) V = -4.Si + 6j (d)v=Si+Sj(a) V = 6i -8j 
(e)v=-4i+6j (f) v = 3../2i -S../2j (g) V = -4\/3i - 2v'.3°j (h) v = -3-Jsi + 6-Jsj

Section 2 

i. ResLstaV\,C,e e.x:perLeV\,C,ed bt:1 eV1-9LVce = GOOOO x f?O = 4f?OOOOO ✓ 
ReSLstaV\,C,e expeneV\,C,ed b!::J trucR. = 12000 x 50 = Gooooo ✓ 
Trt:lLV\.. Ls traveLLLVl-9 at COV\..Stt:lV\..t s-peed, so acceLeratLoV\.. Ls zero. 
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GOOOOO 4f?OOOOO 
✓ 

12000g Goooog 

COJl\$LderLV1-9 wviole S!::jSteJM..: X - 4f?OOOOO -GOOOOO = 0 ✓ 
X=5400000 ✓ 

Tvte dr-LVLVl-9 force of tvie e•V1-0Lv.e = 5400 R.N. 

T-GOOOOO=O ✓ 
T = GOOOOO 

Tvte teV\..SLOV\.. LV\.. tvie C,01,{-pLL� = GOO RN. ✓ 
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CoV'-sLcler-LVl.-9 tvie wvioLe .s1:1steVv1.: Goooo - 3000 - 7000 = 250000a ✓ 

50000 = 250000a ✓ 
a=o.2 

Toe /;le,e,eLer{;ltLoV\, of tli,e s1:1steVv1. Ls 0.2 Vv1.S·2
. ✓ 

(7 marks) 






